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Answers may be given in English or Hind:
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ﬁ Write two examples of Input adn Output devices.
e T e fearfaa & 9 sowo Sf=q)

Uiy Give two examples of Operating Systam
FatfEn vt = 2 samre Gt

Jflﬂ} White names of any two techniques of process scheduling
uraw fegfem & € aosite & A fafad
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?}B/Frmm in .......state wait for an event (e.g 1/0) to occur.
et 22 3 Wridn uw giz (Sndsh) o W sifen wad §
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(i) Explain the term program counter,
et WO wTEeel W e W
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(xi) Master and slave processors work together in  (symmetric/Assymmetric) multiprocessing OS.
TR W e e e, ..« Ferfirdit srfnfisire ) sednimfn & oo O wed w0 §)

(i) Banker Algorithm is used for deadlock  _(Avoidance/Prevention)
Swiz qerhfoan o Swoives & forn i i § (ke

2. Attempt any five of the following question: fa= giw weh & T difad.. (5 x4 =20)

£ Explain the difference between compiler ous Assembler?
AT A i § s ) faieen w1t

(il Whal o you mean by Virtual memory?
wraerE A wn 7

ﬁ’ﬂ-ﬂmhﬂwmﬂmm:hg
weEErE! dw WAt w1 aftyn i)

(iy) Define process state with an exampie.
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(vii) What is the difference between Single usér and multiuser npemmgwi
mﬁmmm&m'&waﬂﬁ |J

(viii) What is paged allocation?
g e = §?
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Attempt any Three question: fs= i vt & = Jiferd:- (3 x 20 = 80)

(a) Give differences between following.
() Shared and Virtual Devices.
(ii) Linker and Loader.

e (%) Freaferfiga 7 s waneR:-
(U} mwmm
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. Whatis the difference between Time sharing process and Real Time Operating system? Explain

enfn draftn Syim wm wivlrs o sl gl @ s ) triren w1

What is long term schedular and short Term schedular? Explain
it 2 (et safin) e wd 2 (o ami) frggen F sem ot Pt w1

Explain any two scheduling Algorithms.
fieit < Frmpafin uerifowrs & fadreen witfah

What are the necessary conditions for deadlock?
Exorw W forf sovas o sm 2

Draw and explain Proces state diagram,
wam =22 o = w sue) fdan 0

E:ptunsull#l Bries, Two level diractories & (e
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